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C [(qulet TR B, U [Quld T uilg 8.

D [aylel 1 uil¢ B, Uid (qlst T AR B.

Q:64
Topic Name:Chemistry-Section A
ItemCode:1964
Question: 251 L1 idRudedly el8Slo-1 eig HHe] q 1) 54 20,

A HCN <H,0 <NH;
B HCN < CH, < NH;
Cc CH,<HCN<NH;
p CH,<NH;<HCN

Q:65
Topic Name:Chemistry-Section A
ItemCode:1965

Question: 2[5 [Hor1ulell U1 Ul sH 20lH].

A ng_ < Na' <= F < 02_ = ’.\'3_
B N> < 07 < F < Na"< Mg?"

C F = Na'=< 07 < Mg?" < N*-

D Na'< F < MgZ'< 07 < N

Q:66
Topic Name:Chemistry-Section A
ItemCode:1966

AL [AuH seRISSAL el glaglal ASUH 1B 212 U1 Ulsul sl Bt
Question:%:n qa1y 21141,

A NH3
N,

B N,
p Cl
Q:67
Topic Name:Chemistry-Section A
ItemCode:1967
oAl & (qYlef] 211091 B, W sal 5901 AdIS el oilomal S0 R d3 quidg
539 6.
52 A : §641RA A5 251 [US Wetld B,
SIRRIR : od| Seloreilu sl [Ret el cllef 56 9AA B w4 A el ([ayd
HRHY &)
Question: GUTL5cl (A 1sflotl e ofl2A w11 Qauief] Aoy [asey urie 530,



A ool A vl R UNULD v R Y A Al AR quodl .
B ool A sl R UL D e R A ] 2] 1yl <1l
C A B R 8.

D Aol uRd R U D,

Q:68
Topic Name:Chemistry-Section A

ItemCode:1968
Question: 3d-ARIHI Ual[ds M>7/M UHL(RI 835215 U2 [-R1ud HR1dd] Hid 56 8 2

A Cr
B Fe
C Cu
D Zn

Q:69
Topic Name:Chemistry-Section A

ItemCode:1969
sU2L: 4t 240 YRld: MR1AG f 5815 Y1l AodllSS el You] lHl:

Question: [12HISL $H15 Eu, 63: Sm. 62: Tm. 69: Tb. 65 : Yb, 70: Dy. 66]
A Eu” ¥e Tm?™

B Sm?” el T~

C Tb* sl Yb?~

D Dy ud YT

Q:70
Topic Name: Chemistry-Section A

ItemCode:1970
w (U] g adlesellol Yol AIsHALL WIHIR Uadl sHH0l6d):

(UL SHI5 Mn = 25: Fe=26)

A,
B.
(&,

FeF ]°~
Fe(CN)g]*™
2\«'.!11(?16]3_ (high spin)

D. [Mn(CN)g]*~

[ p——p—

Question:eil2 2410 [Aseunief] 419y A5y urie 530,
A A<B=D=<=C
B B<D<C<A
C A<C=D<B
D B<D<A<C

Q:71
Topic Name:Chemistry-Section A

ItemCode:1971
dld U SOl aleonls] Aule] ur selRet dloee wn(aeiieset 4 A wia
B (U B, 2R Aol Hel A UlsU1 4P B w1 € ¢ B. dl A. B e € 2o 50
Question: 541 &2

A HOCI HNO;, Cl,
B Cl,. HNO;, HOCI



C HCIO,, HNO,, HOCI
D HOCL HNO, CLO

Q:72
Topic Name:Chemistry-Section A
ItemCode:1972
Question: 112 w106 U] 53 flefl ay el B 2

A
A
ke,
| S

Q:73
Topic Name:Chemistry-Section A
ItemCode:1973
oAl 2104 ulsa el Aullui v «{lyes 2] 219l 2
(i) n—BuLi,
n—CsHqCl
(i) Lindlar cat H,

n—-Bu—-=
Question:

A n-Bu
. :n-Bu

Q:74
Topic Name:Chemistry-Section A
ItemCode:1974
o112 24106 ulsul ALl (Auer <A 9] e21 2
(a) Bry.Fe A

(0IC12. 8 ey ol
Question: lc)=iest. KOH °

darda l-nm



Q:75
Topic Name: Chemistry-Section A
ItemCode:1975
ylu ylm
oH o I Bry HICS,
=T
COH I ?_\'a:Cr:O?.I-IQSOi
B :,f - . T
|“ ” )
OH o III. Zn
p i
¢ I—0 I
) |
an aH IV. CHCl; NaOH
-"/I\ _/::!\"\
D- T .a| — -‘.-'.'". .-|’
L o
Br

Question: ¥ 1U¢l [Aseunief] A1y qle] Urit 53
A A-IV, B-III. C-II. D-1
B A-IV. B-III. C-1. D-II
C AL B-IL C-L. D-IV
D A-IV. B-II. C-I1I. D-I

Q:76
Topic Name:Chemistry-Section A
ItemCode:1976
SIUB [Hsfl Aoofl s WS € H;(NH,),COOH =il 44e | €9 254 2]
(forms)e} SIslelislagiel uss, A8l (AUl A. B el ¢ 2410 . AL A4S U
A AU B, A WIS (AU B’ WU B waA 35 WRIS [Au ¢ 41T B, dl
Question: (4% “C” of AAcl=[Gig ] &2

A 63°C



B 90°C
C 104°C
D 142°C

Q:77
Topic Name:Chemistry-Section A

ItemCode:1977
Question: *47t-N [49] 53 MR 2

A 130221 SISeteli A Yl [aHr 9.

B 1.3-6221 S ¥el 2 AT Ae11 e Yl [auRIS 3-8l Aond] 2us1u B,
C 1,3-022 SI6+1 v4el W [selst10 215611 Ueul[qu 83212 And] 2151 &

D 62fe{[-N Hi Mejel (suttix) N ol 48 stdl Ul 41 9.

Q:78
Topic Name:Chemistry-Section A

ItemCode:1978

o2 & [dy ] 241041 B.

[Aetled 1: HICRLAU] & 0-D-2G51% WsHL C; 2 €, U1 1SRG S1U B 2

(25521t 5d 21521 B,

(Aeiet 11 ; HIC21HI A Il ABUSS 0-D- 2§51 el p-D-2951%, ¢, e ¢

UL A1S1A4] Sl B v d llet 2581l 2152 B,

Question: U5t [Adllefl A&, llA-tiniell Aloy [asey urie 53,

A o (Ao T WA (delled 1T UL D,
B Gid [Qulel T 24a) (Uit 1T L0121 B,
C (quiet 1 4R B, Yd [quled muile 9.

D [ayisl 1ullg &, Uid ([Qdlet AR B

Q:79
Topic Name:Chemistry-Section A

ItemCode:1979

YR YR I %Sl
it ¥y
A AR 1 gulldlaels 8
B. deslls? mdiR g3 s
C. U2lidsl T did 4215 9
D uldA s v L[Sl (ws2) €215 8

Question: =112 204l (Asafuig] R0 [aseq yrie s,

A A-IL B-L. C-IL D-IV
B A-IIL B-I. C-IV. D-II
C A-L B-IV. C-I1. D-III
D A-L B-III. C-1IL. D-IV

Q:80
Topic Name:Chemistry-Section A




ItemCode:1980

JRTUA YR mA %S
AT yfin
cle 1,50, A8 ulsael olsndl aiy)
A COF L [aléd a1y’ B as Wk WA s1onl
oelld B,
B.§* I 22U[c et a1y % % A [ss Ulelaiun

SRSIARHL ¢lagle dld eiet1d B

£ 50.% 1L 5218 gH1S] % % 221 wrlddl H(ulss kT
19l 21ef d1e0T] el B

D. NO?- V. cddt G2l 18l a1(alsat aly, 3%
Yol lof| [Adul ulefld edly ee11d 8

Question: o112 [Udl [AsalHied] AR 1o Yiie 530,
A A-IIL. B-1. C-II. D-IV
B A-IL B-L C-IV, D-III
C A-IV. B-I. C-ITI. D-TI
D A-IV. B-1. C-II. D-III

Q:81
Topic Name:Chemistry-Section B
ItemCode:1981
116 ¢ [5U14R (substance)={l (A1) Ul5UL UL 7.5 ¢ S1ES1o%1. 60 ¢ B[54,
48.5 ¢ 516l 20 B, 2106 H, 0 42 € ol URMIRUSR 21451 1, 16, 12 B.dll
210au el Jedl Al 211 HilSd] 112 dud 249 2

Question:A' CH;COOH B.HCHO C.CH;00CH; D.CH;CHO

Q:82
Topic Name:Chemistry-Section B

ItemCode:1982
o110 w10e sdlezH Wislell Aea rllu €.

n 1 my

A 3 3 -3
B 3 2 —2
G 2 1 +1
D. 2 2 2

GulscH il miul Beofl vl 8.

Question:

Q:83
Topic Name:Chemistry-Section B

ItemCode:1983
BeO ol V1Al el 11l HF U9 ulsul 48 [a] 210 B, B didfla
(BNl [qeeet a8 [B] e AWM [11H 612165 ol 8. dl [A] Hi Besll
2| (524520 1 g8l 8.

Question:

Q:84
Topic Name:Chemistry-Section B



ItemCode:1984
s 114 [S(au a1y, 300 K didHL, uldadl #a qxd il ([ddeiag 1oL
ol 20 L 4t B, w41 (HAlet UH A4l HedH 51l 1AL 19,
Question: (15711 YRII5] (104 B R = 8.3 T K mol™ ¥4} log2 = 0.3010)

Q:85
Topic Name:Chemistry-Section B
ItemCode:1985
2.5 % 1073 kg Gl (solute) 75 x 107 kg UIR{HI 221101l 53 oi-1196 25
¢ldBl 373.535 K G591 8. dl ¢leell Hldr e g mol T Y42 [«1%)5-ll
yullsui] 41ig 8: Ky (H,0) = 0.52K kg mol™! 4=
Question: U181l Geselel [Gig = 373.15 K)

Q:86
Topic Name:Chemistry-Section B
ItemCode:1986
Question: 0-001 M NaOH =i ¢ld8le] pH H& 8.

Q:87
Topic Name:Chemistry-Section B
ItemCode:1987
siui adl ulsul e,
Pt (s)| H; (2)H (aq) || Ag " (aq) |Ag (5)
E° = +0.5332 V.. A/G® o Y& kI mol ! 8. («1%95-il Yyuls)

Question:

Q:88
Topic Name:Chemistry-Section B
ItemCode:1988
A5 A RS UlsALedl Aot 215 is, UlsAletl dlUHletHi 9 Kell 9813 52dl
RNl HigH YsAl. 2l UlsUl 300 Kelumia el eld du =R dl, dlsasel
Gloxds] yeu kJ mol ! 1. [1%)5e1l yuuls]
Question: UG B In10=23 R=83 TK !  mol!. log 2=0.30)

Q:89
Topic Name:Chemistry-Section B

ItemCode:1989

BidYs = 0.602

—
log p
o] A WdIcle] L1131 0.03 atm 1A ll (2054l UldAM €l (AN Ydl
Question:cuﬁ"i A S 10—2g 8. (e19%) 511 ‘-LQI.ES]

Q:90
Topic Name:Chemistry-Section B
ItemCode:1990
0.25 ¢ 5ALR Ys5cl 15 s10{le15 UAdlopet, BRUU WRHIYH1 0.40 ¢ [Rled?
sA1R165 w0 D, dl dleretul sl Retsdl 2511zl 8. [«1%) 5ell
yui[s]
Question: (PG B : Ageil HBICLIR 108 g mol !4 C1 =il HYHIR 35.5 g mol )






